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(b)

% 2 levels transmission, changing analyzer
clear all

sx=[0 1;1 0};sy=[0 -i;i 0];sz=[1 0;0 -1];
gl=0.1;92=0.1;Pc=0.25;zplus=1i*1le-12;Np=1;

ji=1;
for theta=0:pi/2:pi
ii=1;
U=[cos (theta/2) -sin(theta/2);sin(theta/2) cos(theta/2)];
HB=0;dE=0.0025;for EE=~.1:dE:+.1
H=HB*sz;
sigl=-i*0.5%gl*[1 0;0 Pc];sig2=-i*0.5%g2*[1 0;0 Pcl;sig2=U*sig2*U';
gaml=i* (sigl-sigl') ;gam2=i* (sig2~sig2’);
G=inv ( ( (EE+zplus) *eye(2)) -H-sigl-sig2);
T™(ii, jj)=real (trace (gaml*G*gam2*G')) ;
E(ii)=EE;ii=1ii+1;
end
Ji=3i+1;
end

hold on

h=plot (TM(:,1) ,E,'b');
set (h, 'linewidth’, [2.0]1)
h=plot (TM(:,2) ,E, 'm');
h=plot (TM(:,3),E,'xr');
set (gca, 'Fontsize', [36])

xlabel (' Transmission ---> ')
ylabel(' Energy ( eV } =---> ')
grid on
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